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1. The ratio of in-state to out-of-state
g
visitors to the amusement park was
5 to 2. If there were 14,000 visitors
to the park, how many were from
out of state?

For questions 2 and 3, refer to this sketch
of a warehouse.

xw. A company is painting the exterior
walls of a warehouse. Find the
lateral surface area of the walls in
square feet.

w. If a gallon of paint covers 400 ft?,
how many gallons of paint are
needed to paint the warehouse?

Also take Power-Up Test 10

For ncmmzo:m& and 5, refer to this
quadrilateral.

10 em

16cm

22 cm

4. What is the area of the
<) .
quadrilateral?

w. What is the perimeter of the
m2 quadrilateral?

6. .r_m_‘w.:é can type 144 words in .
3) .
4 minutes. How many words
can he type in 10 minutes at the
same rate?

xmw The sales tax rate is 7.5%. What is
the tax on a $12.40 purchase?

xw. if 40% of the students in the class
are boys, and if there are 18 girls in
the class, then how many students
are in the class?
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xw. A lawn sprinkler sprays a circular
pattern 14 feet out from the .
- sprinkler head. About how many
square feet of lawn does the
sprinkler water? (Use W for =)

._%_. Monica wants to tie a ribbon
around the trunk of an oak tree
that has a circular trunk about
20 inches in diameter. Not counting

" the ribbon needed to make a bow,
about how many inches of ribbon
are needed just to reach around the
tree? (Round to the nearest inch.)

For questions 11 and 12, solve for x.
11.2¢x - 1.8 = 24

{50}

4 ._Iw «
12.5x+3=%

For questions 13-18, simplify the
expression.

13. + -x 4y
a:mx 2y ~Xx + y

au%e. 3 + 2) + 2(x + 3)
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W.HI
E.Anw.mm 7

a*b’c
Am& abc

47, 2% 108

uy 4 X 10%

(1.2 X X
18. (12 X 1096 X 107)

._\m» The interior dimensions of Sal’s
refrigerator are 5 ft by 2 ft by 2 ft.
Find the capacity (volume) of the
refrigerator in cubic feet.

20. Find WAm + b)hwhena = B,
(14, 21)
b = 8,andh = 4.
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